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EI . Graph the polar p⑤
equation r = 2
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EE. Plot the polar equation
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Ext . Graph r = 2 cos C 0 ) p④
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Sketch r
-

- costa ) p④
r=cos( 20 )
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⑤ Find parametric equations for y=x ?
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④ p①

④ E. his
.

Find the interval of convergence .

Use the ratio test .

( htt 12×2
( ktl )

Him.info#/
¢
'

e-

- him .lY¥ii.it#I=hi;.lx4lkthtf=lx4Lins.hEfAk2x2kO=0/

So , I - converges for all X .

be ,
k !

free ) if'7oiTasena



91 p④

④ Get a power
series for ¥y×
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Find a power series and

P⑧

interval of convergence
for
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Incl - 3×1 = EI xk p③

converges for sure on : ←¥f
What about at the endpoints ?
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